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« If not linear, provide evidence to support your claim.
« If linear, write the equation.
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Homework Questions?
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2 Boat Rental Business
@

Solving Linear Equations

Sandy’s Boat House rents canoes at a cost advertised as $9 per hour for trips 27
on the Red Cedar River. The owner actually gives customers a better deal. She — - - -
was once a mathematics teacher, and she uses the equation ¢ = 0.15¢ + 2.50

to find the charge c in dollars for renting a canoe for t minutes. =0, |§ 000) £2.50

Lefs: label owr equation: Hrof rinutes

Canoc | SYerkA

_c=0.15¢t+ 2.50 It costo
/ T Vvl/t?fsojus’r

Cosk () fov fodeosta

venhing o canoc
Cov biminulo ks 154 /i
1 rent a ecabil



Phroblem

When Rashida and Serena applied for jobs at Sandy’s, the owner gave
them the following test questions to see if they could calculate
charges correctly.

@® 1. Explain what the numbers in the equation ¢ = 0.15¢ + 2.50 tell you
about the situation. c=015 (2 5) +250

2. How much does it cost to rent a canoe for 25 minutes?
3. A customer is charged $9.25. How long did he use the canoe?

4. A customer has $6 to spend. How long can she use a canoe?

() The owner gave Rashida a graph of ¢ = 0.15¢ + 2.50 and asked her
how it could be used to estimate answers to Question A. How could

Rashida respond?
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(® The owner asked Serena to explain how she could use the table below to
estimate answers to Question A. How could Serena respond?
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Phroblem continued,

(® The owner next asked Serena and Rashida to work together to find exact
answers, not estimates, for Question A, parts (3) and (4).

1. For part (3) of Question A, the girls solved the linear equation
0.15¢ + 2.50 = 9.25. They reasoned as follows:

e If0.15¢ + 2.50 = 9.25, then 0.15¢ = 6.75.
e If0.15¢=6.75, then t = 45.
» To check the answer, substitute 45 for t: 0.15(45) + 2.50 = 9.25.

Are Serena and Rashida correct? How do you know?

( River Fun Boats rents paddle boats. The equation c = 4 + 0.10¢ gives the
charge in dollars c for renting a paddle boat for ¢ minutes.

1. Whatis the charge to rent a paddle boat for 20 minutes?

2. A customer at River Fun is charged $9. How long did the customer use
a paddle boat?

3. Suppose you want to spend at most $12. How long could you use a
paddle boat?
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